4 anaheim =0.179 )
gini = 0.971
samples = 35
value=[1,1,1,1,1,1,1,1,1,1,1,1, 1,1
1,1,1,1,1,1,1,1,1,1,1,1, 1,1
N 1,1,1,1,1,1,1]

TrV False

4 refs < 0.793 A
gini = 0.971
samples = 34
value=1[1,1,1,1,1,1,1,1,1,1,1,1,1, 1
1,1,1,1,1,1,1,1,1,1,1,1,1, 1
1,0,1,1,1,1,1]
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4 allcaps < 0.828 )
gini = 0.97

samples = 33
value=[1,1,1,1,1,1,1,1,1,1,1,1, 1,1
1,1,1,0,1,1,1,1,1,1,1,1, 1,1

1,0,1,1,1,1,1]

. / \ J
4 hockey < 0.269 N ( look < 0.843 R
gini = 0.968 gini=0.5
samples = 31 samples = 2

value=1[1,1,1,1,1,1,1,1, 1,1, 1,1, 1, 1 value
1

0’1111011’1’111’1’1’1’111’1 ) 10’010’0, 10’010’0,
L o,o,1,1l,1,1,1] )L 1,0,0,0,0,0,0]
4 high < 0.399 ‘4 nhl <0.204 h
gini = 0.96 gini = 0.833
samples = 25 samples = 6
value =[0,0,0,0,0,1,1,1,1,1,1,1, 1, 1 value=[1,1,1,1,1,0,0,0,0,0,0,0,0,0
0,1,1,0,1,1,1,1,1,1,1,1,1,0 0,0,0,0,0,0,0,0,0,0,0,0,0, 1
L 0,0,1,1,1,1, 1] )L 0,0,0,0,0,0, 0] )
orca <0.942 =05 znlasghshx < 0.802
gini = 0.958 Sg’mpés'_ 5 gini = 0.75
samples = 24 _ . samples = 4
value =[0,0,0,0,0,1,1,1,1,1,1,1,0, 1 value =10, O O L 5 % % %% % %% %% | vaue=11,1,1,0,0,0,0,0,0,0,0,0,0,0
0,1,1,0,1,1,1,1,1,1,1,1,1,0 00,000,000 0,0,0,0,0,0,0,0,0,0,0,0,0, 1
\ O’?1,1’1’1’1] j H ) H ’ H \/ 0,0,0,0,0,i ] /
4 far < 0.624 R 4 calling < 0.29 R r——
gini = 0.957 gini=0.5 sampies )
samples = 23 samples = 2 _ .
value =[0,0,0,0,0,1,1,1,1,1,1,1,0, 1 value =[1,0,0,0,0,0,0,0,0,0,0,0,0,0 | | a1e<10,3,7.0,0,0,0,0,0,0000.0
0,1,1,0,1,1,1,1,0,1,1,1,1,0 0,0,0,0,0,0,0,0,0,0,0,0,0, 1 T 00.0.0.0.0.0]
L 20,1,1,1,1,1] ) L ,0,0,0,0,0, 0] )
4 ullmark < 0.897 A
gini = 0.955

samples = 22
value =[0,0,0,0,0,1,1,1,1,1,1,1,0, 1
0,0,1,0,1,1,1,1,0,1,1,1,1,0
N 0,0,1,1,1,1,1] )

4 percentage < 0.423 )
gini = 0.952
samples = 21
value=1[0,0,0,0,0,1,1,1,1,1,1,1,0, 1
0,01,00,1,1,1,0,1,1,1,1,0
N 0,0,1,1,1,1,1] )

.

4 miss < 0.702 )
gini =0.95
samples = 20
value =[0,0,0,0,0,1,1,1,1,1,1,1,0, 1
0,010,0,1,1,0,0,1,1,1,1,0

L /0,0,1,1,1,1,1] )
4 like <0.982 N \ _
gini = 0.947 gini =0.0

samples = 19 SEli[ale

value =[0,0,0,0,0,0,1,1,1,1,1,1,0,1 | | Vau
0.0.1,0011,001,1,11,0

) 505 O! ) ) ]
\ /0,0,1,1,1,1,1]\ )
4 canadiens <0.812 N ( injury <0.674 )
gini = 0.933 gini = 0.75
samples = 15 samples = 4
value =[0,0,0,0,0,0,1,1,1,1,1,0,0, 1 value =[0,0,0,0,0,0,0,0,0,0,0,1,0,0
0,00001,1,0,0,1,1,1,1,0 0,010,0,00,0,0,0,0,0,0,0
\ 0501111’1’050] j \ H ao’0a01111] j

4 live < 0.546 / l 4 )

— ayupbookies < 0.161
ve = gini = 0.667 payupboor
il o s
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,1 | | Va1e=10,0,0.0,0,0,7,3,7. 000001 |vae=[0,0,0,0,0,0,0,0,0,0,0,0,0,0
0,0,0,0,0,1,1,0,0,1,1,1,1,0 T 00.0.0.0.0,0] 0,0,1,0,0,0,0,0,0,0,0,0,0,0

:/ 0’0’1’1,1’0’\0] j , , 1 ’ ’ , \ 070!0’0,0!111] /
4 hornqvist < 0.603 N ( power < 0.09 R ini =0
gini = 0.9 gini = 0.5 o e
samples =10 samples = 2 value =[0, 0, 0, 0 Opo 0‘
value = [0, 0,0,0,0,0,0,0,0,1,1,0,0,0 | | value=[0,0,0,0,0,0,0,0,0,0,0,0,0, 1 0.0 0.0.0.6.5. 6.3
0,0,0,0,0,1,1,0,0,1,1,1,0, 0 0,0,0,0,0,0,0,0,0,0,0,0,1,0 0.0, 0.0
0,0,1,1,1,0,0] ,0,0,0,0,0] S
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4 puckinpete < 0.521 /
gini = 0.889
samples =9
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
000001100,1,1,1,0,0
\ ’0’1’0!110’01 j

4 homegate < 0.131 R
gini = 0.875
samples = 8
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
o0,00001,0,0,0,1,1,1,0,0
\ /,0,1,0,1,0,01 /
4 period <0.414 R
gini = 0.857
samples =7
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
0,00001,0,0,0,0,1,1,0,0
\ /5 11’0’15050] j
4 jasonsuriano < 0.921 )
gini = 0.833
samples = 6
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
00000000001,1,0,0
\ /5 1110’1’0!0] /
4 sent <0.415 )
gini=0.8
samples =5

value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
0,0000000,0,0,0,1,0,0

\ /0,0,1,0,1,0,0] )
4 letsgooilers < 0.629 A
gini =0.75
samples = 4
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0
O! O’ O’ H 3 O! O’ O’ 0! 3 O! O’ O’ 0
N /0,0,1,0,1, ; ]\ )
4 emotional < 0.822 N ( leading < 0.344 )
gini=0.5 gini =0.5
samples =2 samples =2
value =[0,0,0,0,0,0,0,0,0,1,1,0,0,0 value =[0,0,0,0,0,0,0,0,0,0,0,0,0,0
0! 0’ O’ O’ H 0! 0’ O’ O’ H 0! 0’ O’ O O’ O’ 0’ 0’ 0! O’ O’ 0’ 0’ b O’ O’ 0’ 0
\ ,0,0,0,0, ,O] j \ 0’0511011’ ) ] j




